BIOLOGY PAPER 3

MARKING SCHEME 
1 a) 
 i) 
P-Nucleolus;
R- Cell membrane/ plasma membrane;

T-Golgi body/ apparatus;

ii) 
Q- carryout respiration; 

    
S- Site for protein synthesis

      
- Package and transport proteins and glycolipids;



         (1 x 2 marks)

iii) 
42 mm _+ 0.05 mm 







         (1 x 3 marks)

iv) 
mg = image 


Actual
20000 = 42/x√

X = (42     x 1000) μ m 

 
      20000



= 2.1 μ m
√







        2/2 = (1 mark)

 b) 
 i)
C: cardiac muscles/ heart muscles;


 
D: Smooth muscles/ visceral muscles;
        
 ii)
B: has many nuclei per muscle



Cell; while D has one nuclei is located periphery; D nucleus is located at the centre








Mark first 2


        1 x 2 marks


iii) B cause locomotion upon contraction; 


     C causes heartbeat to pump blood upon contraction;













         (1 x 2 marks)

iv) C has neuromuscular cells / myogenic to initiate and maintain contraction; 

· Has intercalated discs to spread waves of contraction;

· does not undergo fatigue to contract throughout life of animal 

· has many mitochondria to produce   more energy for contraction 

· mark first only









      (1 x 1)

Q 2 a)  i) 

[image: image1.png]










ii) Hesperidium/ berry








 (1 x 1)


iii) Central / Axile









 (1 x 1)


iv) Animal/ man. Human being;







 (1 x1)


v)
succulent/fleshy/juicy to attract agent;


-Brightly coloured / edible to attract agent of dispersal;



-Seeds have hard slippery coat to prevent digestion;



-Scented / sweet smell to attract agent of dispersal












(mark first one) (1 x 1)

2 
b) 
 i) 1 – 4 drops









(1 mark)

        

ii)  1 – 10 drops








(1marks)

       

 iii) 
Drops of ascorbic acid     x  0. 01%

             


       Drops of juice 



e.g.   2  x 0.1√   = 0.025 % √







(2 marks)

    

        5


iv)
-Size of drops/ droppers; 

    
 
- Presence of impurities;







(1 x 2)

    

 - Ripeness of orange;

3 

	Specimen
	Steps followed 
	Identity

	J
	1a, 2a, 3b
	Ttradescantia

	K
	1a, 2a, 3a
	Poaceae

	L
	1a, 2b, 4a,5a
	Solanaceae

	N
	1a, 2b, 4a, 5b
	Anacadiaceae

	P
	1b
	Asteraceae


(Steps must be correct to score identity)







(2 x 5)


b)  i) Dicotyledonous; 








(1 x 1)



ii) net-work venation;








(1 x 1)

Seed√





Epicarp/Excocarp√





Mesocarp√





Endocarp√





Placenta√
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